
1. Sixteen is always less than 

 

 A.    B.  

    

 

2. Which is very hot?

 

 A.    B. 

  

3. Help the baby to reach the Mom faster.

 

 A.                         B.                                   C.    

4. Gauri has to cross a muddy area without getting dirty which shoes will help her?

 
 A.                         B.                                   C. 

5. Geeta is feeling hot today. She needs some cool air in her room. Which one will help her  
 the most?   

 A.                          B.                                   C. 
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